New gzuey Semi-Conductor

_(/ch[ucts, One.

20 STERN AVE. TELEPHONE: (201) 376-2922
SPRINGFIELD, NEW JERSEY 07081 NPN POWER DARLINGTON (212) 227-6005
USA 5 AMP SWITCHING TRANSISTORS FAX: (201) 376-8360
thru -
2N6350 10-33
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| o (‘;;:"/::-‘_) 5
MAXIMUM RATINGS _WU__JF . ’;/ —
PARAMETER SYMBOL|2N6350|{2N6351|2N6352| 2N6353| UNIT Ly R "(
Collector-Baset Voltage vcs | 80 | 150 | 80 | 150 |V 2N6350, 2N6351
Collector-Emitter Voltage VCER 80 150 80 150 |V ]
RBAE = 2.2K, [RB2E = 100ohms N I °"’,§:‘ﬂ 10-66(3 Lead)
Emitter-Base Voltage Vesr | 12 | 12 12 12 v ‘l .
DC Collector Current e s f o s [0 A | T
Peak Collector Current ICMm 10 5 10 A ——
togims, Duty Cycle<10% | L | Lo
Continuous Operating Base1 1B 0.5 0.5 0.5 05 |A o
Curent S R S o
Power Dissipation @ TC<100°C 1 5 | 5 | 25 | 25 W
Linear Derating Factor | o8 05 25 | 25 [wieC e
Operating & Storage Temp. Range | -65°C10200°C |
Maximum Operating Conditions “ee: Scile Oneraing Areo Diagrams 25;;6352 - 2N6353
ELECTRICAL CHARACTERISTICS AT 25°C CASE TEMPERATURE (Unless otherwise specified)
/ 6354/2N6353
PARAMETER SYMBOL TEST CONDITION M2|:6350 ZN:::)Z( les 2 6MAX UNIT
Collector Cutoff lcey VCr = 80V, VEs1 =2V
Current Ru2t = 100 ohrns 10 pA
1282f = 100 ohms,
Jc=150°C | ; 1.0 mA
VCE = 150V, VEBY = '
Ra2f = 100 ohms ~- 1.0 uA
RB2f = 100 ohms,
- o TCc=150°C L 1.0 mA
Emitter Cutoff [3:3] Vet =12V, IC =0,
Current lB2=0 10 10 pA
le82 VER2 = 6V, 81 =0
R DR c=0 T . 10 10 pA
Collector Emitter e 1 e =5A0 181 = 5mA,
Saturaion Voltage Vo Re2t =100 - 1.5 Vo
I = )/\ i1 == 10mA,
o ‘ - o anr—m( 2.5 \
Collector-Emitter BVcCER IC = 25mA, RB4f = 2.2K.
__BreckdownVoltage | |  RBE=1000hms 80 150 Vv
Base Emitter Voltage VB1E IC=5A.VCE=5V.
e | Rer=100 o - 2.5 25 Vv
DC Forward Current NFE [C=1A VCF =58V,
Transfer Ratio - RB2E=1K 2000 1000
ic=5A. Ve =
 Re2r=100 2000 10.000 1000 10,000
IC=5A, VCE =
L ) ] RB2¢ = 100, Tos -vosjc 400 200
High Frequency Beta hfe Ic=1A, VCE =10V,
i f= 10MHZ 5 5 5 5
Common Base Output Cos1 Vcat = 10V, [E=0.
Capacitance N o f=AMEz L 40 40 pf
Turn-On Time ton Ic= 5A #31 onT
,,,,, | =8O =0mA 5 psec
Turn-Off Time fopt! TIc=5A, #;1”” -
= -[84(0 = 20mA 5 usec
Turn-Off Time tot IC = 5A, Jp1©N
= 181" = 10mA 1.2 psec
IC = 5A 4Ton]
= -181(9 = 20mA 1.2 usec




